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1) Stellar nucleosynthesis : there are no neutrons...

2) Primordial nucleosynthesis : there was plenty of neutrons !
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When does it happen ? How many neutrons were available ?
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When does it happen ?
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How many neutrons are available P

Weak interactions
E)j = +
» LN .+ ®
n + v < 0D +

If enough interactions, then statistical equilibrium.

At low temperature, neutrons are less and less likely,
because they are heavier than protons
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Neutron Abundance

Abundance of Neutrons
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Helium production
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Initially: 88 protons & 12 neutrons

Final state: 76 protons & 6 Helium

Stolen from E. Vangioni

24 % of mass in Helium.
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Now let us listen to two specialists of BBN :

1) Brian Fields
University of lllinois, USA

2) Carlos Martins
CAUP, Porto, Portugal



